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筆記更正筆記更正筆記更正筆記更正 

 

P.36  Q4.  Change answer D to 120 

 

 

P.51  Q6.  Change AD = 2, DF = 4, FB = 6 

 

 

P.53  Q10. Add GE = 4 

 

 

P.97  Q20. Add � 2  cmCD π=  

 

 

P.123 Q12. Change answer D to 30.8% 

 

 

P.126 Q18. Change answer B to 0.88 

 

 

P.148 Q6.  Change answer D to 
19

8
 

 

 

P.150 Q9.  Change answer A to 6.48 kg 

 

 

P.243 ETB  Q13 The answer is B 

  ETB  Q25 The answer is D 

  ETB  Q36 The answer is B 

 

 

P.244 ETD  Q24 The answer is B 

  ETE  Q8 The answer is A 


